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No| A AL B IE-XBRA-VREAL B EALEE FEALEEE (Biik)
1| 4 A 15 B |[KEREXHZRT B AR IR e s 2B AR W ERBRBREL 59— 1,300,000
2 4 B 15 B |REEREBEFIILEA J\BTISEIKES R USLE Kt RFIEBNTFEERR 75H
3| 6 A 22 H|BEAEEIZ(ZO1) MmEMEFiisk IS &N 1,420,000
40 7 A 2 B |BHEFE-3IREKEMRIE HE AT A HRERW 35,300,000/
5| 7 B 2 B |EHRESITIXGEKEHEEHIE I B T 75 10315-3 & 5& ==EH 6,000,000/
6| 7 A 2 B |BEHERFI-SIRHKEHEREFLISE [E 377 /\ B 3512888 Hh 5t (=% &N 2,590,000M
71 7 A 2 B |BEBRFEI-6IREKEMEENIE MmEET/\B 5/ \1166-1FHSE (A= 3,100,000F]
8 7 A 14 B |BHEFIREKEEHISE HZ AT (1515)Hh 5 BRI S 67,450,000/
9 7 A 14 B |BHEXFE-2TIREKEEHIE HEAETE (5 Hh 5% W= —TvIRMFEXE 26,400,000
10| 7 A 14 B |EBREI-1IREKEEHIE Mg /\ B 5 (FGHET) ik INREZERE 107,000,000
11 7 A 14 B |BEBXRFI-4IREKEEHTE M= B ith 5 EHAAE 73,900,000
12| 7 A 14 H |EHEREI-1IREKEEHIE [ g7 /\ B i35 (HET) i A RZERM 82,000,000
13| 7 A 14 B |BEHXFI-3IREKEEHTE MmEET &Ptk [ ) 43,900,000
14| 7 A 14 B |BEBREI2IXREKEEHTIE MmEET = (FEAW) 5k SYURERM 133,000,000
15| 7 A 14 B HXEEEREBEIE(ZON M EET /\ B i35 #h £ 51 St A SFNERE AR 2,970,000M
16| 8 A 18 B |[EKEEHFIBIHIHINEBRR(ZOD M ARk WRMILC=7)2T MIEERRA 8,085,000M
17| 8 A 18 B |[RKEEHFIBIHIRIEBRR(Z02) E S RT B FHnSes 268 A FEERETH 9,350,000/
18| 8 A 18 H |RKEEHIFITHIHAEBRET(TDI) I BE T i S M IR WERKEIVH IR 7,700,000/
19| 8 A 18 B |[/\BMSEKSERERBEHITE J\BHI5EIKES AF—5— FEERXM 31,350,000
20( 10 A 12 A [BEAEIEIZE(Z02) HERBTAF (R /#)ihsk W= —TvIRMFEIE 16,148,000
21| 11 B 13 B [EBRF2-4IREKENEEHFISE HZSBTARF6103% IS &N 8,140,000M
22| 11 A 13 A |[MKBBEERIEICHIHEBRR M EET /\ B 152039 & Hh S 4} 6 B W IRK B L AU b 2,970,000
23| 11 A 13 B [EBRF-TIRGEKENEEHFISE B EETiR A 455-12%F 5 FTINTHEBIE 1,650,000/
24| 11 A 13 B |[HKTREHETE(ZD5) M3 /\ B iii5 1325 i 5k BEHEERR 2,310,000M
25| 11 A 30 B |[BEKEEHIFIRIBRIBERHRIT(ZON M EET 4 B ith 5 SFERE LR 2,600,000M
26| 1 B 28 B |[EKEEHFIBICRIBHRAERHRIE(ZTOD2) HZ SLRTZ B Hh SE 41 3B Al HALUTEM 1,450,000/
27 1 B 28 B [EXEEHFIFICRIBHIPEEHRT(TOI) [0 B2 T 25 F #h e S 4B ALETE 850,000/
28| 1 B 28 B |[EKEEHFIBICRIBHIRERHRIE(ZTOI) [E BE T #E L S 51 3B AT =EEH 800,000/
29| 2 A 8 H [HAREEHREEIE(ZO) [ B2 i 8RR h SE 41 4 Bl FrRE 2 R 2,400,000M
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